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All questions are compulsory.
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Question Nos. 1 10 8 are very short answer type questions: Each

question carries | mark.
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Question \@ 9 10 12 are short angwer type questions. Each questlon

cdrnux@arks (Maximum word-limit of answer is 50 words)
@%nav 13 §18 9% Tdawiy y ¥ | WAE ¥ H onufiw fawes v

mmwa sis srmafea €| (I F AfyFam v=-vi 75 9= ¥)

Question Nos. 13 to 18 are long answer type questions. Each question

has internal choice. Each question carries 4 marks. (Maximum word-

limit of answer is 75 words)
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Question Nos. 19 to 24 are long answer type questions. Each question

has internal choice. Each question carries 6 marks. (Maximum word-

limit of answer is 250 words)
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uweA-1.  fifes agd == € 2 h

What are Giflen Goods?

WR-2 - W S W SR ey TR H I ¥ ? (1]
Which type of market is gold and silver market?

w3 - feE (1]
What is optional money?

Y-4 - V@ W FEE IEsw-w d? [1]
Which is the central bank of India?

UE-5° VI O F D I g [1]

Give two examples of direct tax.

WoA-6 «  Hfera woe fRd wea §2 (1]
What 1s balanced budget?

WYA-7 SN GeM Qw4 e ¥ 2 (1)

What is meant by balance of trade?

uya-8 mﬁﬁqﬂuﬁ?@m@? (1]
: Q
What 1s floating cl@ﬁngc rate?
S
vy1-9 . wmn@mt?mvﬁml [2+1=3)

What is ttal production? Write its formula.

uA-10 - Al wivdfiren & @ fadreen feafag

Write three characteristics of imperfect competition

(1+1+1=3]

uFA-11° mmmmmﬁmﬁm(mmﬂ [1+1+1=3)

Write the difference between excessive demand apd deficit demand
(any three).

W-12 mmmnﬁmnﬁr#wﬁmwl
3)

Explain the relations of marginal cong .
Umption trend and sav;
ing trend.
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w13 W‘ﬁmﬁzmaﬂmﬁmﬁtﬁmﬂmﬂﬁﬁm [2+2=4]
Explain the mutual dependence of micro- and macro-economics.

Haar
OR
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T [1+1+1+]1=4]

Explain the difference between real economics and ideal economics
(any four).

wvA-14  3hwa for som % S feam € ) 9% @ =i a2 [2+2:4]

How does the average fixed cost curve look like? Why does it look
like this?

srqar
OR
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How do long marginal cost and average cost curves look like?
O |
wA-15.  fad Mﬁ'@kmﬂm,mmm%mﬁm
+7 aen s (4
Explai @Q all the'last expenditure in an economy is equal to the
total faclor payment.
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Write some limits of GDP as the co-ordinate of the welfare of a
country.
-6, WA 3 T I it dferh Rum e ?

(4]
What is the alternative definition of currency supply in 1ndia?
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Write the modern work of Commercial Banks (any four).

wA-17¢ T F fadwastl @) fafae (9% &) | [1+1+1+1=4]

Write the features of the budget (any JSour).

Jyar
OR
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Why government budget is required (any four)?

UIE-18 -« TS W F STEgeR N AF FA ¥ Iy fafae (HE T10) [1+1+1+1=4)
Write measures to correct the imbalance in the balance of
ray»ments (any four).

Jgar
OR

hfdﬁmutwﬁ\*&ﬁfm(ﬂ ) |
Arguc in 1av0u&g§mble exchange rate (any four),
5T-19 Ww@mwaﬂﬁql (6]

Explain the indifference curve with diagram.
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[fthe income of the consumer increases fram Rs. 20ito Rs. 40 hut the
price remains unchanged, then what changes are there in the budget line?

»
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Explain the elements affecting demand (any six).
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Explain the reasons why the rules of demand applied (any six).

TER-21 « ) B e 3 A T 9 fafeg (9 @)

[6]
Write the clements affecting supply (any six).
e
OR
WA AT PRI E? [2+4=6)

What does elasticity of supply mean? How is it measured?

UvA-22 * T o A W A e e -
(3) WIER wima A e,
(¥) AqeA A | 9?2 [3+3=6)
What happens when the prevailing price in the masket is—
(a) greater than equilibnium price;

() less than ccg&lﬁnm price?

‘Z§) areraT
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Explain ‘the difference between normal price and market price

(any six). http://www.cgboardonline.com

wr-23 AR % o fagia 3 aneved feRag (Fik 1) | (6]
Write critiques of Keynes's employment thsony (any six).

syuar
OR

st i % o Tt (3 ) |
Write the causes of excessive damand (any abv).
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w24 « Prdifen stwgl ¥ dufee omm ol dafww Wam @ F TOFN

IR ; [3+3=6]
w¥ TR (wFH)
() T A R fraw WY TqE© - 8,000
(i) vl | v Pram w1 A - 200
(¢ feafar o - 1,000
(iv) frm = - 500
(v) ER g7y s - 1,500
(vi) FE T e fRar s - 1,200
(vii) a1 Ay - 300
(viif) ¥aferres - 500

Based on the following information, calculate Personal Income and

Disposable Income :

&gkgms ) Rs. (in-Crore)
(i) Net dof@stic product on factor cost - 8,000
(if) Ex%lg'nal secured net factor income - 200
(Jif) Undistributed profit - 1,000
(iv) Corperation tax - 300
(v) Interest received by families - 1,500
(v5) Interest paid by families - 1,200
(v#9) Transfer ineome - 308
(viilf)Popsenairex - 500
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() o ed - 4,000

(i) T - 700

(if)) ™ - 1,300

(iv) = - 500

(v) I =g - 4,000

(vi) W& W fafam - 1,500

(vif) & e fafdm - 1,000

Based on the following information, calculate National Income by

expenditure method : K\Q@

Items ,&\Q’% Rs. (in Crore)

N

RN
)] .‘salan&@rd wages - 4,000
(i) Rent - 700
(iii) Profit - 1,300
(iv) Interest - 500
(v) Consumption expenditure - 4,000
(vi) Gross domestic investment - 1,500
(vii) Net fereign investment - 1,000
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